SCL

@u:ckRef

-~ PARTS CATALOG FOR
OOL BUSES aNIDAV @)K







[2luickRef

PARTS CATALOG FOR
SCHOOL BUSES aNIBAV@]K=!

Wﬂ%k &M for choosing Blue Bird...and Blue Bird parts!

As a seller of the'host recognized and trusted brand in student transportation vehicles, your
nearest Blue Bird Authorized Dealer is your best source for original equipment and
aftermarket parts to keep your fleet in top shape. Your Blue Bird Dealer is staffed with true
school bus parts experts; and the Parts and Service team at the Blue Bird home plant in Fort
Valley, GA partners with industry leading component manufacturers to bring you top quality
at competitvely attractive prices.

Many of the leading-brand components used in the assembly of Blue Bird buses also occur in
a broad range of medium duty truck applications, as well as other brand school buses. And
that’s what this catalog is all about. We hope you'll keep it handy as a quick lookup tool for
many of the most frequently-needed replacement parts for your Blue Bird buses, other brand
school buses, and even for other vehicles you may service in your facility.

Just browse the catalog for the Item To Order numbers you need, contact your Blue Bird
Dealer for current pricing, and we'll take care of the rest.

Blue Bird’s state-of-the-art Parts Distibution Center provides over 2.1 million cubic feet of
clean, modern storage for over 40,000 items (and growing). And our business partnerships
enable us to ship many more items to you directly from the manufacturers’ warehouses,
saving you time and money.

Of course it's not possible to list all our offerings in the QuickRef catalog. Be sure to contact

your Blue Bird Dealer for all your maintenance, OE, and aftermarket parts needs. We welcome
your input and look forward to serving you!

&) PARTS and SERVICE

BLUE BIRD
®



©2013-2016 Blue Bird Body Company. All rights reserved. No portion of this catalog, including text or images, may be reproduced by any means without the express written consent of the
copyright holder.“Blue Bird” and the bird in flight logo are registered trademarks of Blue Bird Body Company.

All business names and logos used in this book are trademarks or registered trademarks of their respective holders. Some photos are provided by Blue Bird’s Business Partners and are
reproduced with their permission. All images are copyright of their respective holders.

Blue Bird Parts and Service relies upon its Business Partners for some of the information contained herein. Content is based upon information accurate at the time of publication and is
subject to change without notice.



Hardware | Clamps

10014014 01170083 01107937
BRACKET,MOUNTING,BROOM CLAMP,LOOP,.375 CLAMPING DIA,W/.280 HOLE CLAMP,LOOP,2.00,INSULATED,COV-3313
00079313 01586171 00029253

CLAMP,LOOP,TUBE, .25 0.D.,2 TUBE CUSHION,LOOP CLAMP,.25 OD,2 TUBE SADDLE,DUAL SWIVEL,MOUNT

Hardware | Compartments

01072263 00885236 01091248

BEARING,CAM FOLLOWER,RBC H-32 L BOLT,BATTERY TIE DOWN BOLT,BATTERY TIE DOWN,5/16-18 X 8 ZINC
Related Items: Related Items: Related Items:

Bushing: 01071992 Washer: 02001055 Washer: 02001055

Nut: 02001501 Wing Nut: 02001444 Wing Nut: 02001444

Washer: 00929018

Hardware

25.1




02001444
NUT,WING,5/16-18,YEL ZN DICH

Hardware | Covers

03751997
COVER,SCREWHEAD,CREAM,NO 12/12-108

Hardware | Fasteners

00602029
BRACKET,0/S CHAIN HOOK

01667773
CAPSCREW,HEX HD,1/4-20X1 1/4,GR5,YEL ZNDICH

Hardware

00052730
COVER,WIRE MOLDING JOINT

02001667
CAP,CHERRY RIVET

01044650
CAPSCREW,HEX,FLANGE 1/4-20X7/8 STAINLESS
W/DOG PT.

Hardware

25.2

00862490
CAPLUG,FOR 1IN SQ TUBE

02008027
FASTENER SNAPS,SWITCH PANEL




Hardware

00064024 01073311 10003273
ISOLATOR,FRONT FLOOR,TIE DOWN BBCV NUT,PANEL,HEX HD,1/2-20,YEL ZN DICH NUT,PLASTIC,WELL NUT,8-32,AUVECO 16237,D3
Related Items:
Nylon Sleeve: 00062181
Rubber Pad: 01479591
01319573

02001352

NUT,T,LONG PRONGED, 1/4-20 PIN,CLEVIS,5/16,CLEVELAND 2708 1/2-3A

10036030
NUT,RUBBER,10-32x.825,WELL NUT

00566067

00565408
RECEPTACLE,SOUTHCO,12-11025-11]

00017694
RECEPTACLE,SOUTHCO,12-11017-11

PLUG,PRY-OUT,.875 HOLE,HEYCO 3083

02001659

01211606
RIVET,DRIVE-IN,1/4 X 1/8

00888222
RIVET,CHERRY,BSP-45

RIVET,CHERRY, 1/4IN

Hardware

25.3




02001394
RIVNUT,NC,1/4

Hardware

02000479
SCREW,6-20 X 1,AB,PH1,0VAL CNSK HD,YEL ZN

04318754
(Ricon® V2-SP-97)
SPRING,UPPER,PARALLEL ARM

01056647
WASHER,FRICTION,LEVER PIVOT,NYLON

02274199
WELLNUT,NO J-1032

02025955
WIRE,CORE STOP,1/4 IN

Hardware | Grommets

03940186
BUSHING,NYLON,.500 HEYCO

00421792
GROMMET,1 3/4 X 1/16 X 1 1/2

Hardware

25.4

00074414
SCREW,PAN HD,8-18 X 1,AB,PH1,YL ZN,W/EX

01315118
WELLNUT Q-1032,.377 X 5/8

02003150
GROMMET,CHASSIS,COWL WIRING




00058529
GROMMET,FIREWALL,2 INCH,CLOSED

02003192
GROMMET,RUBBER, FC

02003200
GROMMET,RUBBER, 1IN ID

01508613
GROMMET,RUBBER,ATLANTIC INDIA #2426

Hardware

02003176
GROMMET,HEATER HOSE,1 1/2IN ID

01610450
GROMMET,RUBBER,1.38 ID X 1.718 OD

00026853
GROMMET,RUBBER,2.125 I.D.

00890566
GROMMET,RUBBER,ATLANTIC INDIA,NO 2758

Hardware

25.5

02003168
GROMMET,RUBBER,

00066468
GROMMET,RUBBER,13/32 ID,3/8 GW,5/8 GD

02003218
GROMMET,RUBBER,3/8 ID

02003234
GROMMET,RUBBER,CHASSIS COWL WIRES,3/4IN ID




Hardware

02003226

02003184
GROMMET,RUBBER,W/S WIPER

GROMMET,RUBBER,HEATER PANEL,1 1/4IN ID

Hardware | Latches, Locks

02008894 00009562 00001764
HOOK, STEEL, 1/8 X 1-1/8 LONG, ELECTRO LATCH,DRAW,OVER-CENTER,SOUTHCO 97-50-110-12 LATCH,HYDBRK/RESVR CVR,SOUTHCO K2-3005-89
GALVANIZE
10034354 10030018 01203918
SPACER,OUTSIDE,REW LOCK,YEL ZINC PLT

LATCH,SLIDE,BAT TRAY,ROLLOUT LOCK ASSY,DOOR,DEF TANK

10034542
STRAP ASSY,RETAINER,BATTERY

Hardware

25.6




Hardware | Seals

01234079
FILLERSTRIP,VINYL

219"

469"

Hardware

10047054

SEAL,RIBBED,W_ADHESIVE,UNITED SEAL 1325

01489434
TRIM,VINYL,BLACK,DOUBLE LIP

[

390"

520"

10044357 01489251
SEAL,CLOSEOUT,BATTERY BOX TO BODY SEAL,ENGINE HOOD TCFC
132"
l— 82"
317 -
125" ,
. i 85
65 0
- 275" -
143"
00116246 02004547
SEAL,RUBBER,RADIATOR BAFFLE M4RE TRIM,INSTRUMENT HOOD, VINYL EDGE,BLACK
_!_ —T_
.S60 . 620
] / .
L <790 —+
1.080

01233964
TRIM,VINYL,GRILLE BAR,FILLER

Hardware

25.7



Wheel Covers | Phoenix USA®

Wheel Covers | Liners

00023199 00023200 00077015
LINER,FRONT,WHEEL,PHOENIX (1933225) LINER,REAR,WHEEL,LINER (1933225) LINER,WHEEL,SST,REAR,22.50X8.25

Wheel Covers | Phoenix USA®
49.4






Your Blue Bird Authorized Parts Dealer




	Cover
	Title Page
	Copyright
	25_Hardware
	Clamps
	Compartments
	Covers
	Fasteners
	Grommets
	Latches, Locks

	Back



